PO # 135759 Oms Pec 444348



February 23, 2018

Project No:

10.001123.0000

Invoice No:

0280957

Jillian Peterson Fort Bend County 301 Jackson Street Richmond, TX 77469

Project

10.001123.0000

Precinct 3 Mobility PO# 135759

TOTAL CONTRACT AMOUNT: \$611,000.00 AMOUNT INVOICED TO DATE: \$602,193.42 REMAINING FUNDS AVAILABLE: \$8,806.58

Gaston Road Spring Green Greenbusch Road Katy Flewellen

Professional Services from January 27, 2018 to February 23, 2018

Professional Personnel

	70111101					
		Quantity	Rate		Amount	
Project Manag	ger					
Kaplan, Ar	lene	6.0	85.00		510.00	
Miller, Rhia	a	10.0	85.00		850.00	
	Total Labor					1,360.00
Reimbursable Ex	penses				/	
Copies	Y-				8.25	
	Total Reimbursables				8.25	8.25
			Tota	al this Pro	ject	\$1,368.25

10.002533.0000 2013 Mobility/Katy-Flewellen Project **Professional Personnel** Quantity Rate Amount **Documents Specialist** 11.0 65.00 715.00 Cervantes, Aleyna Cooper, Gordon 65.00 260.00 4.0 George, Kathy 5.0 65.00 325.00 Kimbrell, Jennifer 3.0 65.00 195.00 **Project Manager**

Project	10.001123.0000	FBC-Precinc	t 3 Mobility PC	D# 135759	Invoice	0280957
Mi	ller, Rhia		31.0	85.00	2,635.00	
	ation Agent hedler, Margaret		30.0	75.00	2,250.00	
	of Way Agent (1-5 Ye zyette Romoser	ars)	24.0	65.00	1,560.00	
	Total Labor					7,940.00
Reimburs Mileac Copie Postac	3				76.30 41.55 18.55 1	V
	Total Reimb	oursables			136.40	136.40
				Total thi	s Project	\$8,076.40
				Total thi	s Invoice	\$9,444.65
					0,	m/ 18

PERCHERON INVOICE DETAIL

Billing Period from January 27, 2018 to February 23, 2018

Date	Qty	Rate	Total Labor	Miles	Amt (Miles x Rate)	Lodging	Meals	Per Diem	Phone	Comp	Filing Fees	Copies	Pstg	Other Exp	Total Exp	Total
Miller, Rhia					Nate							11				
1/29/2018	3.000	85.00	255.00													255.0
Work Detail	Rhia Miller:	Gaston F	Road -Worke	ed on files	for closure (F	P5, P8, P9	, P11, P12,	P13, P16)								
1/30/2018	2.000	85.00	170.00													170.0
Work Detail					ection to mon	itor house	rehabilitatio	n. P9&P	11 - At reque	est of SPI, re	eviewed ap	praisals to	see if owner	were compe	ensated to re	locate
1/31/2018	1.000	85.00	city; sent ema 85.00	all to SPI												85.0
Work Detail			Road - P19:	Spoke wit	h Arlene and	property o	wner; revie	wed and a	ssisted with	editing of e	mail to con	struction co	ntractor.			
2/2/2018	3.000	85.00	255.00													255.0
Work Detail	Rhia Miller:	Gaston I	Road - Work	ed on files	for closure (P4, P6, P7	, P15).									
2/20/2018	1.000	85.00	85.00													85.0
Work Detail	Rhai Miller:	Gaston F	Road - P19:	Site visit t	o moinitor ho	use rehabi	litation.									
1/30/2018	1.000	85.00	85.00													85.0
Work Detail	Rhia Miller:	Katy-Fle	ewellen - Tea	am Meeting	g. P19: Społ	ke to appra	iser re: app	raisal for m	neet lienhole	der requirem	ents.					
1/31/2018	1.000	85.00	85.00													85.0
Work Detail			wellen - P26		quested HUD	-1 and clos	sing docume	ents from t	tle company	γ; reviewed ι	updated titl	e commitme	ent provided	by title com	pany; sent u	pdated title
2/2/2018	3.000	85.00	255.00	ied to Aivii	<u></u>											255.0
Work Detail	Rhia Miller:	Katy-Fle	ewellen - P1	_15, P17 8	P26-P29 - F	Reviewed u	pdated surv	eys provid	led by SPI;e	mailed surv	eys to age	nt and uploa	ided to AMF	PS; requeste	d updated su	rvey on P2
2/5/2018	to correct A	bstract N 85.00	lo. and Surve	ey name, p	er title comp	any; P26-l	P29 - spoke	with title o	ompany re:	title curative	items					170.
Work Detail				After disc	cussion with	FBC prepa	ared memo	to file re: u	odated surv	ev. P30 Res	searched o	wner's aues	stions regar	dina ditch: er	nail to agent	
	to appraise	r. P26-P2	9: forwarded		surveys to tit											
2/6/2018	2.000	85.00	170.00	0.0000000000000000000000000000000000000												170.
Work Detail			ated weekly	report.												
2/14/2018	3.000	85.00	255.00	D7 D0 F	م ما المالية	- 1				. 1:11	ou Class	ا مد دادمانا اد	lianalian fas	EDC.		255.
Work Detail 2/15/2018	4.000	85.00	340.00	P7, P0. F	ollowed up o											340.
Work Detail			ewellen - P6, neline and er		Spoke with a		Market Company					Stewart Title	; spoke with	n Stewart title	re: closing	process.
2/16/2018	1.000	85.00	85.00													85.
Work Detail 2/19/2018	Rhia Miller: 3.000	Katy-Fle 85.00	ewellen - P6 255.00	- worked v	vith agent an	d title comp	pany re: clo	sing.								255.
Work Detail				ated repor	t for weekly i	meeting P	19 - called	appraiser i	e: appraisal	for lienholde	er. P2/P3.	P9 & P19 -	emailed title	e company re	eauestina cla	
2/20/2018					ifiy that these											255.
Work Detail 2/22/2018	Team meet	ing. P2/F	P3, P19 - Em 255.00	nail corresp	oondence wit	h title com	pany re: clo	sings. P2/	P3 - forward	ded closing o	locuments	to agent.				255.
Work Detail	Rhia Miller:	Katy-Fle	wellen - P19	: Received	d and review	ed appraisa	al prepared	for lienhold	ler; forwarde	ed appraisal	to Arlene a	and agent; u	iploaded ap	praisal to AN	IPS; spoke v	with Arlene
					sent to lienh											received ar
2/23/2018	5.000	85.00	425.00							2 2						425.
Work Detail					dy report. P											
Total Miller,	41.000	at picking	3,485.00	ocuments	. P2/P3 - sp	oke to agei	it about sta	ids of closi	ng. F/ & F	3 - emailed i	needing ini	nutes to 1 B	C CICIK'S UI	iice so triat a	gent could re	3,485.
Rhia: Cervantes, Aley	ma															**
1/30/2018	2.000	65.00	130.00					E VI IMERO I VERSONALIS								130.
Work Detail 1/31/2018		65.00	antes-Katy I	-lewellen-	Resent IOL I	P30 via Fei	dEx.Update	d postage	sheet.							130.
Work Detail 2/1/2018	1/31/18-Ale	eyna Cerv 65.00	vantes-Katy F 65.00	lewellen-	Started paym	ent packaç	ge for P26-2	9. Respon	ded to emai	ls. Scanned	cm receip	ts. 				65.
Work Detail			ntes-Katy FI	ewellen- E	mailed Rhia	regarding	payment pa	ckage for	P26-29.							130.
				awallan *	Anda noont	nce letter	for D30 D==	ated vonda	r forms was	ranty dood	and 1000	Indated re	etana on cu	cal shoot as	d printed Co	
Work Detail	to invoice.				/lade accepta				wai	anny ueed a		puateu po				
2/15/2018	2.000	65.00	130.00													130.
Work Detail	DIACIAD AL-		iontoo Voti I	Flowellon-	Scanned orig	inal hude a	and tax aggr		DC 7 0							

Project	10.	.00112	23.0000	- 1	BC-Pre)18 to Febr		fR		voice	02	280957	
Date	Qty	Rate	Total Labor	Miles	Amt (Miles x Rate)	Lodging	Meals	Per Diem	Phone	Comp	Filing Fees	Copies	Pstg	Other Exp	Total Exp	Total
Cervantes, Ale	yna				Katej	· ,										
Work Detail	2/20/18-4	Neyna Cer	vantes- Katy	Flewellen	- Discussed	parcels with	team and	upcoming 1	work.							
Total Cervantes, Aleyna:	11.000		715.00									·				715.
Schedler, Mar	garet															
1/30/2018	1.000	75.00	75.00													75.
Work Detail 1/31/2018	Maggie S 2.000		veekly transp	ortation m	eeting 											150.
Work Detail 2/1/2018	Maggie S 1.000		alls with PM: 75.00	regarding	P19's partial	release; ca	ills, emails r	egarding F	2-3's updat	ed form 129	5					75.
Work Detail 2/6/2018	Maggie S 1.000		all with P5 re 75.00	garding cl	osing held la	st Friday										75.
Work Detail		Schedler; v 75.00	veekly transp 150.00	ortation st	atus meeting	1 										150.
Work Detail 2/15/2018	Maggi a S 1.000		alls with P19 75.00	regarding	partial relea	se process	calls with F	M regardi	ng P6 deed							75.
Work Detail 2/16/2018	Maggie S 1.000		75.00	wner regar	rding needing	g new deed	signed									75.
Work Detail 2/19/2018	Maggie S 1,000		alls/emails re 75,00	garding P	6 closing an	d needed de	ocuments.									75
Work Detail 2/20/2018	Maggie S 2.000		ontacted owr 150.00												6,54	156
Work Detail 2/21/2018	7.000	75.00														525
Work Detail 2/22/2018	7.000	75.00									orking on i	updating file:	s for ED,			525
Work Detail 2/23/2018	4.000	75.00						ation for re		//·S						300
Work Detail Total Schedler			vorked on fini 2,250.00	sning files			ED								6.54	2,256
Margaret:			1,100100	1,410												
Kimbrell, Jenr				<i></i>												
1/30/2018 Work Detail		ekly team t	meeting to dis	scuss Katy	/ Flewellen p	rojects										65
2/6/2018 Work Detail		dy team m	eeting on Ka	ty Flewells	en project											65
2/20/2018 Work Detail	1,000 2/20 Wee		65.00 meeting rega	rding Katy	Flewellen p	roject										65
Total Kimbrell			195.00		<u> </u>			 			·, ··· ·· ·- ·- ·- ·-					195.
Jennifer: Cooper, Gord	on.															
2/2/2018	2.000			42.0	0 22.89										22.89	152
Work Detail 2/13/2018	2.000		130.00													130
Work Detail Total Cooper,	Drafted p		ase of lien for 260.00	P17, and			uld be clea	-							22.89	282
Gordon:															22.00	
George, Kathy								· 	~							
1/30/2018	1.000			allan tan—	monting											65
Work Detail 2/6/2018	1.000	65.00														65
Work Detail 2/14/2018	1.000		ed weekly Ka 65.00	ty Flewelle	en team mee	eting. 										65
Work Detail	2/14/2018	8 - Drove t	to Ft. Bend C	ounty to p	ick up the de	eds for par	cels 6.7, an	d 8. (Katy	Flewellen)							

	10.0	001123	3.0000	F	BC-Pr	ecinct 3	Mobil	ity PO#	<i>†</i> 13575	9		<u>In</u>	voice	02	280957	
					E	illing Perio	d from Jar	nuary 27, 2	018 to Febr	uary 23, 20	18					
Date	Qty	Rate	Total Labor	Miles	Amt (Miles x Rate)	Lodging	Meals	Per Diem	Phone	Comp	Filing Fees	Copies	Pstg	Other Exp	Total Exp	Total
George, Kathy																and the second transfer
2/23/2018	2.000	65.00	130.00	86.00	46.8	7									46.87	176.
Work Detail	2/23/2018	- Drove to	PO to pick u	up the clos		ents and ori	ginal deed.	(Katy Flev	vellen parce	l 6).						
Total George, Kathy:	5.000		325.00	86.00	46.8	7 🗸									46.87	371.
Kaplan, Arlene	9															-
1/30/2018	2.000	85.00	170.00													170.
Work Detail								and what i	needs to be	done to fini	sh addition.	Minimal list	and expect	to have this	done by Friday	.Will ord
2/20/2018	4.000	85.00	340.00	uirements	to get pan	ial release a	na ciose									340.
Work Detail	contractot		ty owner; au			ceipts and in scheduled s				owner work	to complet	e construction	on. Worked	up final justif	ication of invoi	
Total Kaplan, Arlene:	6.000		510.00													510.
Romoser, Suz	yette															
1/31/2018	2.000	65.00	130.00													130.0
Work Detail			Flewellen; strative dutie		nmunicated	d w/attorney	35 15				35 5 5	perwork; will	prepare file	for closing;	working on par	tial
2/1/2018	2.000	65.00	130.00													130.
Work Detail		oser - Katy 65.00	Flewellen;	P26-29 - F	Provided pr	operty owne	er with closi	ing issues o	on schedule	c of title cor	nmitment; \	W9 and title o	company inf	ormation; oth	ner administrat	ive dutie:
Work Detail			-Flewellen;	P17 - Rev	ised final a	igreement ai	nd resent to	o property o	wners attor	ney; resent	vendor forn	ns and worki	ng on partia	I release for	closing; other	
2/8/2018	administra 4.000	65.00	260.00													260
Work Detail						owner in Pe				dressed co	ncerns; pro	perty onwer :	signed agre	ement and d	leed; working v	vith own
2/12/2018	4.000	65.00	260.00	orate doc	unients ioi	closing, our	adillilist	alive dulle.								260.
Work Detail											- provided	editable warr	anty deed f	ile to make e	edits to send ba	ick for
2/15/2018	2.000	65.00	130.00	or property	y owners le	ender; updat	ed files and	logs; other	administrat	ive duties.						130
Work Detail 2/20/2018	Suzy Rom 4.000	oser - Katy 65.00	Flewellen; 260.00	P30 - assi	sting prope	erty owner w	ith 1295 fo	rm; partial r	elease for le	ender; other	administrat	tive duties.				260
Work Detail	Suzy Rom	oser - Katy	Flewellen;	Weekly st	aff meeting	to discuss p	orojects; ou	ıtstanding p	arcels; closi	ngs, and El	Os. Update	d files, logs a	and other ac	dministrative	duties.	
2/23/2018	4.000	65.00	260.00													260.
Work Detail	close prop		other admi			th title comp	any and pr	operty own	er to clear tit	le issues; p	rovide mari	tial status; Ps	9 - received	closing docu	uments; prepar	
Total Romoser, Suzyette:	24.000		1,560.00													1,560.
FedEx																
2/23/2018													18.55		18.55	18.
AP Detail	Fedex @ F	Katy Ft. Be	nd Cty S.Ro	omoser												
AP Detail													18.55		18.55	18.
Total FedEx:																10.
	1.27 to 2.09	.2018														
Total FedEx:	1.27 to 2.09	.2018										8.25			8.25	
Total FedEx:	1.27 to 2.09	.2018										8.25			8.25 32.25	8.
Total FedEx: KATY CC PFS 2/9/2018		.2018														8.
Total FedEx: KATY CC PFS 2/9/2018 2/9/2018 Total KATY CC PFS 1.27 to	 		23.2018									32.25			32.25	8.
Total FedEx: KATY CC PFS 2/9/2018 2/9/2018 Total KATY CC PFS 1.27 to 2.09.2018:	 		23.2018									32.25			32.25	8. 32. 40.
Total FedEx: KATY CC PFS 2/9/2018 2/9/2018 Total KATY CC PFS 1.27 to 2.09.2018: KATYCC FIEL	D SERVICE		23.2018									32.25 40.50			32.25 40.50	8 32 40.

FEDEX

Katy Flewellen/ Ft. Bend County	Original Customer Reference
20180201	POD Delivery Date
lglesia Bautista 20180201 Vida Nueva De	Recipient
11233 Gaston Road	Recipient Address Line 1
KATY	ss Recipient City
Suzy Romoser KATY	Net Cha Shipper Name Shipper City Amount
\$18.55	Net Charge Amount

\$18.55

Description: FedEx
Amount: \$
535 Prospect Prospect: Katy Flewellen
Client: Ft. Bend County

Percheron Field Services 1904 West Grand Parkway North Suite 200 Katy, Texas 77449

Copy Expense for Period 01.27.2018 - 02.09.2018

Billable to: Fort Bend County

Precint 3 Mobility

Total Prints and Copies	55 @ 0.15 per copy=	\$8.25
Total Percheron Copy expense		\$8.25

Percheron Field Services 1904 West Grand Parkway North Suite 200 Katy, Texas 77449

Copy Expense for Period 01.27.2018 - 02.09.2018

Billable to: Fort Bend County

Katy Flewellen

Total Prints and Copies	215 @ 0.15 per copy=	\$32.25
Total Percheron Copy expense		\$32.25

Percheron Field Services 1904 West Grand Parkway North Suite 200 Katy, Texas 77449

Copy Expense for Period 02.10.2018 - 02.23.2018

Billable to: Fort Bend County

Katy Flewellen

Total Prints and Copies	62 @ 0.15 per copy=	\$9.30
Total Percheron Copy expense		\$9.30